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1. (c) Given,
4515 × 5 – 431 ÷ 3 + 821 = ?
'+' and '–' are interchanged
and '×' and '÷' are
interchanged.

 4515 ÷ 5 + 431 × 3 – 821 = x
 903 + 431 × 3 –821 = x
 903 + 1293 – 821 = x
 2196 – 821 = x
 x = 1375

2. (a)
3. (a)

4. (d) L O I

Q T N

+5 +5 +5

V E S

A J X

+5 +5 +5

Similarly,

A N D

F S I

+5 +5 +5

5. (b) 23, 27, 43, 79, 143, 243

+4 +16 +36   +64    +100   

(2)
2

(4)
2

(6)
2

(8)
2

(10)
2

6. (b)
B  F H/  L N P/  T  XD J R V

+2 +2 +2 +2 +2 +2

+2 +2 +2 +2 +2

7. (d)
8. (a) 13 : 119

 (13)2 – 50 = 169 – 50 = 119
9 : 31

 (9)2 – 50 =  81 – 50 = 31

Similarly,
8 : x

 (8)2 – 50 = 64 – 50 = 14

9. (d)
22, 23, 27, 54, 70, 195, 231

+1 +4 +27 +16 +125 +36

(1)
3

(2)
2

(3)
3

(4)
2

(5)
3

(6)
2

10. (c) A 
–

B+Father 
 C
–

D+

Wife’s mother
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11. (a) X   Z    C   H

+2 +5

M  O    R  W

+2 +5

P   R    U   Z

+2 +5

But,

O  R     T   U

+3 +1

(Odd)

12. (d) 19 : 3
 (3 × 6) + 1
 18 + 1 = 19 (First term)

55 : 9
 (9 × 6) + 1
 54 + 1 = 55 (First term)

49 : 8
 (8 × 6) + 1

 48 + 1 = 49 (First term)

24 : 4 (Odd)

 (4 × 6) + 1

 24 + 1 = 25 (Not first term)
13. (d) Total number of women

entrepreneurs who are not
Indian = 18

14. (b) 7 : 15

 (7 × 2) + 1

 14 + 1 = 15 (L.H.S = R.H.S)

11 : 121 (Odd)

 (11 × 2) + 1

 22 + 1

 23   121 (L.H.S   R.H.S)

22 : 45

 (22 × 2) + 1 = 45

 44 + 1= 45

 45 = 45 (L.H.S = R.H.S)

5 : 11

 (5 × 2) + 1 = 11

 10 + 1 = 11

 11 = 11 (L.H.S = R.H.S)

15. (b)
Books

Lamps 

Curtains

Telephones  

16. (a)
17. (b)

18. (d) B  E  L  L

M  K  F  A 
(+1) (–1) (+1) (–1)

B  O N D

E  M  P  A
(+1) (–1) (+1) (–1)

B  L E W

X  D  M  A
(+1) (–1) (+1) (–1)

Similarly, 

19. (d) CRECC  CARETCR /
CARETCR / CARETCR/
CARETCR / CA

20. (a)

21. (c)

22. (a)

23. (d)

Strams

Rivers

Drops 
Tears

24. (c) DRAPE  65432

TAPED  24596

25. (d)

B-GENERAL AWARENESS

26. (b) Electron - J.J. Thomson./

bysDVªkWu & ts-ts- FkkWeluA

Proton - Rutherford/çksVkWu &
jnjiQksMZ

Neutron - James Chadwick

/U;wVªkWu & tsEl pSMfod

Therefore the correct is

option B/blfy, lgh fodYi gS B

27. (b) Fransis De Almeida was

the first Portuguese

governor general for India./

Úkafll Mh vYekMk Hkkjr ds igys
iqrZxkyh xouZj tujy FksA
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28. (a) Article 44 of Indian

constitution; which is also a

part of DPSP talks about

uniform civil code./Hkkjrh;
lafo/ku dk vuqPNsn 44_ tks jkT; ds
uhfr funs;'kd rRo dk Hkh ,d fgLlk gS]
leku ukxfjd  lafgrk ds ckjs esa ckr
djrk gSA

29. (b) Jet Stream is high speed

movement of air current which

occurs in stratosphere. It is jet

stream which is responsible

for polar vertex, that is,

extreme cold weather near

polar areas,/tsV LVªhe ok;q çokg
dh mPp xfr dh xfr gS tks lerki
eaMy esa gksrh gSA ;g tsV LVªhe gS tks
èkqzoh; f'k•j ds fy, ftEesnkj gS] vFkkZr
èkqzoh; {ks=kksa ds ikl vR;f/d BaMk ekSle
ds fy, ftesnkj gSA

30. (b) Ethanol is the alcohol, rest

of them are not alcohol./

bFksukWy vYdksgy gS] ckdh lHkh
vYdksgy ugha gSaA

31. (d) First Indian person to single

handedly circumnavigate

the world is Abhilash

Tommy of Indian navy./vdsys
nqfu;k dh ifjØek djus okys igys
Hkkjrh; O;fDr Hkkjrh; ukSlsuk ds vfHkyk'k
VkWeh gSaA

32. (b) Sabha & samiti were part of

vedic political society while

Bali was religious ritual.

Sansad had no mention in

Rigveda or Rigvedic cultural

society./lHkk vkSj lfefr oSfnd
jktuhfrd lekt dk fgLlk Fks tcfd
ckyh èkkfeZd vuq"Bk.k gSA ½Xosn ;k
½Xosfnd lkaLÑfrd lekt esa laln dk
dksbZ mYys• ugha FkkA

33. (b) C.F Andrews, a friend of

Mahatma Gandhi was

known as “deenbandhu” for

his service towards the

poors./egkRek xka/h ds fe=k lh-,iQ-

,aMª;wt dks xjhcksa ds çfr mudh lsok
ds fy, “nhuca/q” ds :i esa tkuk
tkrk gSA

34. (d) The state of Sikkim does

not share a boundary with

Assam meanwhile other

does./flfDde jkT; vle ds lkFk
lhek lk>k ugha djrk gS] tcfd
vU; jkT; djrs gSaA

35. (b) Borderforce guarding the

Indo-Nepal border is SSB-

(Sahastra  seema Bal )/

Hkkjr&usiky lhek dh j{kk djus okyk
lhek cy gS  ,l,lch& (lgL=k lhek
cy)

BSF – Pakistan ,

Bangladesh/ch,l,i Q &
ikfdLrku] ckaXykns'k

ITBP- China/vkbZVhchih& phu

CISF – Industrial guard

force/lhvkbZ,l,iQ & vkS|ksfxd
lqj{kk cy

36. (c) There are 11 Fundamental

duties embedded in the Indian

constitution. Fundamental

duties were originally part of

soviet constitution from

which India took inspiration

from./Hkkjrh; lafo/ku esa 11 ekSfyd
drZO; fufgr gSaA ekSfyd drZO; ewy :i
ls lksfo;r lafo/ku dk fgLlk Fks] ftlls
Hkkjr us çsj.kk yhA

37. (d) First person to win a Nobel

prize in both physics &

chemistry was Marie Currie

for discovery of Radioactivity

& radioactive materials./

HkkSfrdh vkSj jlk;u foKku nksuksa {ks=kksa esa
ukscsy iqjLdkj thrus okyh igyh O;fDr
eSjh D;qjh FkkhA ftUgs  jsfM;ks/feZrk vkSj
jsfM;ks/ehZ inkFkks± dh •kst ds fy,
ukscsy iqjLdkj feyk FkkA

38. (a) The official name for

budget is Annual financial

statement./ct V  d k

vkf/dkfjd uke okf"k Zd foÙkh;
fooj.k gSA

39. (b) Telengana is a landlocked

state mean while other

have a coastal boundary./

rsyaxkuk ,d LFky#¼ jkT; gS] tcfd
vU; dh rVh; lhek gSA

40. (c) Cell was discovered by

Robert hooke./dksf'kdk dh •kst
jkWcVZ gqd us dh FkhA

41. (a) Captain mohan singh  was

the commander of INA who

handed over the command

to subash Chandra Bose./

dSIVu eksgu flag INA ds dekaMj Fks]
ftUgksaus lqHkk"k paæ cksl dks deku
lkSaih FkhA

42. (c) Ashok kumar among his

fans was popularly known

as “Dada mouni”/v'kksd dqekj
vius ç’kaldksa ds chp ¶nknk equh¸ ds
uke ls yksdfç; FksA

43. (c) MN roy is pioneer of

communism in India. He

was a friend of Lenin./,e,u
jkW; Hkkjr esa lkE;okn ds vxznwr gSaA os
ysfuu ds fe=k FksA

44. (d) The first non-Indian person

to receive Bharat ratna

award was khan Abdul

Gaffar khan . He was also

known as frontier Gandhi .

He led a mass movement

duing Quit India

movement./Hkkjr jRu iqjLdkj
çkIr djus okys igys xSj&Hkkjrh; O;fDr
•ku vCnqy xÝiQkj •ku FksA mUgsa lhekar
xka/h ds :i esa Hkh tkuk tkrk FkkA
mUgksaus Hkkjr NksM+ks vkanksyu ds nkSjku
,d tu vkanksyu dk usr̀Ro fd;kA

45. (d) The following statement

was made in Golak Nath

case, 1967./xksyd ukFk ekeys]
1967 esa ;g c;ku fn;k x;k FkkA
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46. (a) It is under Ayushmann

Bharat mission  that now

the elderly in India will get

free of cost medical care

without any limits./vk;q"keku
Hkkjr fe'ku ds rgr vc Hkkjr esa
cqtqxks± dks fcuk fdlh lhek ds eqÝr
fpfdRlk lsok feysxhA

47. (b) Narmada, Mahanadi & Son

originates from Amarkantak

hills but kaveri does not./

ueZnk] egkunh vkSj lksu vejdaVd igkfM+;ksa
ls fudyrh gSa ysfdu dkosjh ughaA

48. (b) The term “Peticoat govt “was

related to Akbar when the

affairs of state was under

the control of Maham

Anga./'kCn “inkZ ljdkj” vdcj
ls lacaf/r Fkk tc jkT; ds ekeys
ege vaxk ds fu;a=k.k esa FksA

49. (a) Adrenaline hormone is

released by adrenal gland ,/

MªsukykbZu gkekZsu ,MªSuy xzafFk }kjk lzko
fd;k tkrk gSA

50. (d) The autobiography of

Mahatma Gandhi is known

as ‘Experiment with truth’./

egkRek xkaèkh dh vkRedFkk dks ‘lR; ds
lkFk ç;ksx’ ds uke ls tkuk tkrk gSA

  gSAgS C - QUANTITATIVE APTITUDE

51. (a) Volume of a cylinder = r2h
Radius = 4 units
Height (h) =  2 × Radius

 2 × 4 = 8 units
ATQ,
V = r2h

  × 16 × 8
 128

52.(b) A system of linear equation
to have an infinite number

1

2

a

a = 
1

2

b

b  = 
1

2

c

c

Compare the ratio of the
coefficients in the given
equation.

1

2

a 2 k 1
= =

a –1 2

2k 1
=

–1 2

4k = –1

k = 
–1

4

53. (a)

54. (b) Given,

r
1
 : r

2
 = 4 : 5

h
1
 : h

2
 = 5 : 7

ATQ,

CSA
1
 : CSA

2

 (r
1
h

1
) : (r

2
h

2
)

 (4 × 5) : (5 × 7)

 20 : 35

 4 : 7

55. (b) a3 – b3 = (a – b) (a2 + ab + b2)


   

   

3
4 .2  – 1 .2

3

2 2
4.2 5.04 1.2 

          

   

4 .2  – 1 .2  – 4 .2
2 2

2 2

4.2 1.2 1.2

4.2 5.04 1.2

   

 


     

     

3  ×  
2 2

2 2

4.2 5.04 1.2

4.2 5.04 1.2

   

   

 3

56. (d) Corresponding sides of
congruent triangles are
equal.

57. (a)Average = 
s

n
= 

   n  + 1 2 n  + 1

6

Here, n = 47

Average =    47 + 1 2  × 47  + 1

6

= 
48  × 95

6
= 

4560

6
 = 760

58. (b) ATQ,

Profit = S.P – C.P

1 = 6 – CP

C.P  = 5

6  31524

1  5254

5  5254 × 5 = 26270 (C.P)

Now,

Gain percentage = 
Ga in  

C.P
×100

= 
5254  

262 70
× 100

Gain percentage = 20%

59. (d) ATQ,


2 5  – x

3 0  – x
 = 

3

4

 100 – 4x = 90 – 3x

 x  = 10

60. (b) ATQ,

63

X= 9 

Y = 21

7

3

2 hours tank filled = 10

4 hours tank filled = 20
6 hours tank filled = 30

8 hours tank filled = 40

10 hours tank filled = 50

12 hours tank filled = 60

 Total work complated = 60

Now, Reamaing work

complated by X in 
3

7
hours

Total work complated =

3
12

7

 
    hours.

61. (a)  
.

M P

Q N

9 x

5O
6 

ATQ,

MO × ON = OQ × OP

9 × 5 = 6 × OP

45 = 6 × OP

OP = 7.5cm

62. (b) 

30
o

A

B C

18

In ABC

sin30o = 
BC

AC

1

2
 = 

BC

18

BC = 9cm
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63. (a) a2 + b2 = 65,
(a + b)2 = a2 + b2 + 2a
(a – b)2 = a2 + b2 – 2ab
a2 – b2 = (a – b) (a + b)
ATQ,
(a + b)2 = a2 + b2 + 2ab
(a + b)2 = 65 + 2 × 8 = 81
(a + b) = 9
Again,
(a – b)2 = a2 + b2 – 2ab
(a – b)2 = 65 – 2 × 8 = 49
(a – b) = 7
Now,
a2 – b2 = (a – b) (a + b)
= 7 × 9 = 63

64. (c) ATQ,

increased decreased

150 75100

25

50% 50%

Loss percentage = 
25

100
× 100

 = 25%
65. (d) The number is 72 is

divisible by 8 and 9.
Both
78y should be divisible by 8.
Now,
Only possible value of y = 4
4+8+5+x+3+6+7+8+4 = 45+ x
smallest possible value of x
= 0
then,
= (2y –3x)
= 2 × 4 – 3 × 0  = 8

66. (c) ATQ,
'A' invest for x months


3  × x

5  × 12
 = 

2

5


3x

60


2

5

 15x = 120
 x  = 8

67. (a)ATQ,
cosesA = secB
cosecA = cosec (90o – B)
A = 90o – B
A + B = 90o

68. (a)ATQ,
L.C.M (6, 12, 16) is 48
Now,

432 and 480 is the number
that are between 400 and
500 and also divisible by 48.

then,

= 432 + 480  = 912

69. (c) Volume of the cone = 
1

3
r2h

= 
1

3
×  ×72 × 7

= 
1

3
  × 73

Volume of each sphere

= 
4

3
r3

= 
4

3
 × 73

Height of the cylinder is H

ATQ,

1

3
×73+2×

4

3
×73 =  × 72×H

 73 
1 8

3 9

 
   =  ×72 × H

 7 × 
9

3
= H

 H = 21 cm

Curved surface area of cyl-
inder = 2rh

= 2 ×
22

7
× 7 × 21 = 924 cm2

70. (a)ATQ,

Profit = 8.4% = 
8.4

1000
= 

21

250

C.P  : S.P

250 : 271    59620

1      
5960

271
×250

1    220 × 250

= 55000 (C.P)

71. (c) x4 – 79x2 + 1 = 0

Divide by x2

x2 – 79 + 2

1

x
= 0

x2 + 2

1

x
= 79

 x2 + 2

1

x
+ 2 = 79 + 2

 2

1
x

x

2

2 
   = 81

 x + 
1

x
= 9

72. (d) ATQ,

12% interest for 12 months

so, 8% interest for 8 months

Time = 2 × 
3

2
 = 3

C.I = P 
r

1+
100

3

–1
  
     

C.I = 62500 
8

1+
100

3

–1
  
     

C.I = 62500
1 9 6 8 3

1 5 6 2 5
–1

  
    

C.I = 62500
196 83  –156 25

1 562 5

  
    

C.I = 62500
4 0 5 8

1 5 6 2 5

  
    

C.I = 16232

73. (b) Daily wages less than `450
= 30

Daily wages are `650 or
more than 650 = 35

Required ratio = 30 : 35 = 6 : 7

74. (d) 
A

B

C D
62

o

x

62o2
8

o

2
7

o

O.
35

o

P

given,

DCA =  DBA = 90o

IN PCA

 PAC = 180o – 90o – 35o

 PAC = 55o

Now,

 DAC = 55o – 27o = 28o

 DAC =  DBC = 28o (Same
major segment)



5SSC CGL 2025 | SET - 05KD PUBLICATION Contact us:- 9555108888, 9555208888

75. (b) The relative speed of the
train = 90 – 80 =10km/h

Speed = 10 × 
5

18

25

9
 m/s

Now,

Speed = 
Dis ta n ce

tim e

ATQ,

 x230

25

9

 
 
 

  
    

 = 180

 230 + x = 180 × 
25

9

 230 + x = 500

 x = 270

D-ENGLISH COMPREHENSION

76. (c) “Hit a brick wall” means to

face an obstacle or a

situation where progress is

halted.

77. (d) The verb “want” is typically

followed by the infinitive

form of a verb, which

includes “to.” The structure

“want to + base form of the

verb” is used to express a

desire or intention.

78. (d) Elegant (vk/qfud vkSj lq anj)
means stylish, graceful, and

sophisticated. Its opposite is

Awkward (vthc), which

refers to something that is

clumsy or lacking grace.

Classic (Dykfld) refers to

something timeless and of

high quality

Splendid ('kkunkj) means

magnificent or impressive.

79. (d) The door of the hut was

opened by a little girl.

Active Voice Structure:

Subject (A little girl) + Verb

(opened (past tense)) +

Object (the door of the hut)

Passive Voice: object + was/

were + v
3
+ by + Subject.

80. (b) So he did not carry his own

“Did” is the past tense

auxiliary verb, so the main

verb follows in its first  form.

81. (b) Snapped (VwV tkuk) refers to

breaking suddenly, often due

to pressure or force.

Similarly, “gave way” (VwV
tkuk) means to break or

collapse under pressure.

Repressed means to

suppress.

Stifled means to suppress

or restrain

Lulled means to soothe or

calm

82. (b) The correct spelling is

“Swindle,” which means to

cheat or deceive someone.

83. (b) “Potable” refers to water or

liquids that are safe to drink

“Edible” refers to something

that can be eaten.

“Nutritious” refers to

something that provides

nourishment.

“Portable” refers to

something that can be

carried easily.

84. (a)Exquisite (lq anj) means

something very beautiful or

delicate, describing the

saree and Exorbitant (cgqr
egaxk) means unreasonably

high, referring to the price

Embellished (ltk;k gqvk):

Decorated.

Errant (HkVdu s  o kyk) :

Straying from the proper

course

Extinct (u"V gks pqdk) : No

longer existing.

Erudite(Kkuh): Knowledgeable.

Ecstatic (çlUu) : Extremely

happy.

Enormous (fo'kky) : Very

large

85. (a)Showed (fn•kuk) refers to

making something apparent

or visible. Similarly,

“evinced” (fn•kuk) means

to display or show something

clearly.

Observed (ns•uk) means to

watch or notice

Suppressed (nckuk) means

to hold back or restrain

Pretended (nko k dju k)
means to falsely claim

something

86. (b)

87. (a) Inscrutable (x w< +) means

difficult to understand or

mysterious. Its opposite is

Comprehensible (le>u s
; k s X;) , which refers to

something that can be easily

understood or grasped.

Enigmatic (jgL;e;) means

mysterious or puzzling

Amiable (fe=kor) means

friendly or pleasant.

Appropriate (mfpr) means

suitable or fitting

88. (b) “Lock horns” means (yM+kbZ
djuk) to have a conflict or

fight with someone.

89. (b) Correct order is DCBA.

D introduces weather’s role in

mountain climbing.

C talks about reducing

physical difficulties with

equipment.

B explains how lightweight

equipment helps conserve

energy.

A concludes that fitness and

fearlessness are key to

success.
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90. (b) My new work is more

challenging and more

interesting.

The sentence uses

“challenging” and

“interesting,” which are

both comparative adjectives.

The correct form is “more”

for comparatives, not “most”.

91. (d) “Unless” is used to indicate

a condition that must be met

for something to happen.

The sentence means that

the work will not be

completed on time if you

don’t work for longer hours.

92. (b) A conscientious person is

one who does his work

thoroughly, carefully, and

with great attention to

detail.

93. (c) The correct spelling is

Pathetic (meaning causing

feelings of pity or sadness).

ANSWER KEY

1. (c)

2. (a)

3. (a)

4. (d)

5. (b)

6. (b)

7. (d)

8. (a)

9. (d)

10. (c)

11. (a)

12. (d)

13. (d)

14. (b)

15. (b)

16. (a)

17. (b)

18. (d)

19. (d)

20. (a)

21. (c)

22. (a)

23. (d)

24. (c)

25. (d)

26. (b)

27. (b)

28. (a)

29. (b)

30. (b)

31. (d)

32. (b)

33. (b)

34. (d)

35. (b)

36. (c)

37. (d)

38. (a)

39. (b)

40. (c)

41. (a)

42. (c)

43. (c)

44. (d)

45. (d)

46. (a)

47. (b)

48. (b)

49. (a)

50. (d)

51. (a)

52. (b)

53. (a)

54. (b)

55. (b)

56. (d)

57. (a)

58. (b)

59. (d)

60. (b)

61. (a)

62. (b)

63. (a)

64. (c)

65. (d)

66. (c)

67. (a)

68. (a)

69. (c)

70. (a)

71. (c)

72. (d)

73. (b)

74. (d)

75. (b)

76. (c)

77. (d)

78. (d)

79. (d)

80. (b)

81. (b)

82. (b)

83. (b)

84. (a)

85. (a)

86. (b)

87. (a)

88. (b)

89. (b)

90. (b)

91. (d)

92. (b)

93. (c)

94. (c)

95. (d)

96. (c)

97. (d)

98. (d)

99. (c)

100.(d)

The other correctly spelled

words are:

Illegal (meaning against

the law)

I m m e d i a t e ( m e a n i n g

happening or done without

delay)

Definitely (meaning

without doubt)

94. (c) The correct form is “who

have been” or “who’ve

been,” as “had” is not correct

here when talking about the

present perfect tense.

95. (d) for you and me

when a pronoun is used as

the object of a preposition

(like “for”), it should be in the

object form, which is “me”

in this case.

96. (c)

97. (d)

98. (d)

99. (c)

100.(d)


